KOJJEKT O Pbl C THIPOCTPEJKOM o 100 kBt

Konnekrop 4/90 (3+1) 40-100kBT ueHa - 258 €

Bce 1", koTnoBble 114"
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Konnekrop 5/90 (2+2+1) 40-100KBT ueHa - 278 €

Bce 1", koTnosble 14"
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Konnektop 5/90 (4+1) 40-100KBT ueHa - 283 €

Bce 1", koTnosble 14"
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KOJJEKT O Pbl C THAPOCTPEJIKOMH 10 100 kBt

Konnekrop 5/90 (4+1) 40-100kBT ueHa - 311 €

Bce 1", koTnoBsbie 14"
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Konnektop 3/125 + 1/90 40-100KBT ueHa - 279 €

Bce 1", koTnoBsble 14"
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Konnektop 4/125 + 1/90 40-100KBT ueHa - 306 €

Bce 1", koTnosble 14"
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KOJJEKTO Pbl C THIPOCTPEJKOM o 180 kBt

Konnekrop 4/160 (3+1) 140-180kBT ueHa - 341 €

Bce 14", kotnosble 112"
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Konnektop 3/125 + 1/160 140-180KBT ueHa - 310 €
Bce 114", koTnosble 112"
_ 925 _
A
i m

370
250
|
160

_
O 251 ] 125‘#**:125‘##




KOJJEKT O Pbl C THIPOCTPEJKOM 1o 200 kBt

Konnekrop 5/160 (4+1) 160-200kBT ueHa - 486 €

Bce 1"Va, koTnoBble 2"
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KonnekTtop 5/160 (1+3+1) 160-200kBT ueHa - 468 €
Bce 1"14, koTnoBbie 2"
1050
M 160
— ]
= [ M
N W=
3 = 2
_ B

[ 160 160 160

1160




KOJJEKT O Pbl C THIPOCTPEJKOM 1o 200 kBt

Konnekrop 5/160 (2+2+1) 160-200kBT ueHa - 450 €

Bce 1"Va, koTnoBble 2"
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KpoOHLWTelH Ana KONNekTopoB

2K, 2E, 2W, Cranaapr A, B, B, 6-90, 5-90, 4-90

LleHa — 26 €
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KpOHLWITEeNH Ana KONNeKkTopoB

4/125n 4/160, 1/160,3/160 2/90, 3/90, 4/90

LleHa — 29 €
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